

$f(x) = \sqrt{(x-1)^2 - 1} \Rightarrow x > \frac{1}{2} \left[\sqrt{x^2 - 1} \right]$	$\begin{aligned} & \sqrt{x^2 - 1} > 0 \Rightarrow x^2 - 1 > 0 \Rightarrow x > 1 \text{ or } x < -1 \\ & \text{Since } x > \frac{1}{2} \left[\sqrt{x^2 - 1} \right] \Rightarrow x > 1 \end{aligned}$
$f(x) = \left(\frac{1}{x + \sqrt{x^2 - 1}} \right) > 0$	$\begin{aligned} & \frac{1}{x + \sqrt{x^2 - 1}} > 0 \Rightarrow x + \sqrt{x^2 - 1} > 0 \Rightarrow \sqrt{x^2 - 1} > -x \\ & \Rightarrow x^2 - 1 > x^2 \Rightarrow -1 > 0 \text{ (Contradiction)} \end{aligned}$
$y = \sqrt{\frac{x^2 + 2}{x + b}} + a$	چون بازه $(2, \infty)$ باز است نتیجه می‌گیریم که دامنه این ایندکس بیفته این هم از دامنه هر دو هم زیر نمودار (0, 10) شده و این با هم بیشتر محدود می‌شود $x + b \leq 2 + b \leq 5$
$f(x) = \begin{cases} x^2 - 1 & x > d \\ x^2 + 2 & x < d \end{cases}$	① $\sqrt{x^2 - 1} - x > 0 \Rightarrow \sqrt{x^2 - 1} > x \Rightarrow x > 0 \Rightarrow x > d$ $D_f = (d, \infty)$ ② $\sqrt{x^2 + 2} - x > 0 \Rightarrow \sqrt{x^2 + 2} > x \Rightarrow x < -\frac{1}{x} \Rightarrow -\frac{1}{x} < x < d$ $D_f = (-\infty, d)$
$\frac{x^2 + 2}{(x^2 + 1)^2} \Rightarrow \frac{x^2 + 2}{(x^2 + 1)^2} = \frac{x^2 + 2}{(x^2 + 1)^2}$	$\frac{x^2 + 2}{(x^2 + 1)^2} = \frac{x^2 + 2}{(x^2 + 1)^2} \Rightarrow \frac{x^2 + 2}{(x^2 + 1)^2} = \frac{x^2 + 2}{(x^2 + 1)^2}$
$y = \sqrt{1 - (x - a)^2} \Rightarrow x - a > 0 \Rightarrow x > \frac{a}{p}$	$\begin{aligned} & 1 - (x - a)^2 \geq 0 \Rightarrow 1 \geq (x - a)^2 \Rightarrow x \leq \frac{1 + a}{p} \Rightarrow x \leq d + \frac{a}{p} \\ & D_y = \left(\frac{a}{p}, d + \frac{a}{p} \right] \Rightarrow c \leq d + \frac{a}{p}, b \leq \frac{a}{p} \Rightarrow c - b \leq d + \frac{a}{p} - \frac{a}{p} \leq d \end{aligned}$